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H kAaon Student

// ATmtAouaTeupévn ekdoxh e AM, ovoldTETWYVUHO, atrouadieg kai Pabuo

public class Student{

privatce
private
privatce
private

public 5§

public 5§
this
this
this
this

int am:

String onoma;
int apousies;
double wvathmos;

todent (int am, String onoma) {
this(am, onoma, 0,0.0);:

todent (int am, String onoma, int apousies, doubkle wathmos) {
. aTF=anm;

. OMOMa=0noma ;

apousiesTapousies;

TTathmos=vathmos;

public void setVathmos (double wvathmos) {

this=

TTathmos=vathmos;

public void setApounsies(int apousies) {

this=

Apousies=apousies;
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H kAaon Student

// ATmtAouaTeupévn ekdoxh pe ovopa, AM, amouadieg kai pPaBué

public int getAM{() {
return am;

}

public String getOnoma () {
return onoma;

}

public doukle getVathmos () {
return vathmos;
¥

pubklic int getAponsies() {
return apousies;
¥

public S5tring toString() {
return ("AM: "+am+"\nOnoma : "+onoma+"\nVathmos : "+vathmos

:"+aponusies) ;
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1n aoknon mpaénc: «Epyaornpiaké Tunpa»

pukblic interface LabInterface {

public boolean insert (Student 5);
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pubklic boolean delete (Student 5) ;7
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public Student =s=earch(int &M) ;
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pubklic vold presentation= () :

L] =+ LA

failedi() :
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1n aoknon mpaénc: «Epyaornpiaké Tunpa»

public clas=s Lab implements LabInterface {

private String LabHame:
priwvate int capacity:
private int =ize=0;
private

public Lab(S5tring Hame, int cap) {
LabName=Name ;
capaclity=cap;
Labbrray = new Student|[capacitvy]:

¥

public Lab(String Hame) {
thi= (Hame, 20) !
¥

public int size() {
return size;
¥

public String getHame () 1
return LabMName:
¥
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public boolean insert (Student 5) {
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if (=izer>=capacity)
1 Syvstem.cut.println ("Lak

return false:

Labhirravy[=ize++]=5;

return truaer;

public boolean delete (Student 5) {

e R — —_ — — — —_
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for (imt i=0; i<=size; i4+)

if (Labifirravyv[i]=5)

i
return true;

H
return false;

public Student search(int &M) {
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for (imt i=0; i«<=ize; it++)
if (Labfirrav[i] .getcdhM ()=—AM)

recurn null;
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public woid presentations|() {

for (int i=0; i<=ize; i++)

Svstem.ocut.println (Labhirrav[i] .getiM (}+"—-"+Labirrayv[i] .getEpitheto ()
+"——"4lakbfirray[i] .getCnoma ()

+"——"4labirray[i] .getipousies () +"-—-"+Labbirrav([i] .getWVathmo= () ) -

public int succeded() {

s — ——
= I _ 18

LR L DT L

L L

int count=0;
for (int i=0; i<=size; i++)

if [((Lakbfrrav[i] .getVathmo=()>=5) &&

[Labfirray[i] .gethpousie=s (j<=2))
count4++;

refturn count?

public int failed(){

AL S S N | R o

([zize—-succeded() ) :
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b b W DD L Lt b - e D RSD L

double total=0.0;
for (int i=0; i<=ize; 1i++)
total=total+Lablirray[i] .getVathmos=s () ;

return t-Dt-El].,:"rS'_ L2
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1n Aoknon TTpa&nc: «Epyaornpiako padnua»

// To gpyaoTnpiakd padnua mepiAaupdver évav apiBué améd TUApaTa

public interface LaboratoryConrselnterface {

public void printHomberOfStodents ()

L s TN - S —— o T —

volid printSuccesStatus():;
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1n Aoknon TTpaénc: «Epyaotnpiako padOnua»
public class LaboratoryCourse implements LaboratoryCourselInterface {
private
private
private

private

public LaboratoryCourse (String Name, int cap) {
= new Lab[capacity]:

public LaboratoryCourse (String Name) {
this (Name,5) ;

public boolean insert(Lab L) {

= [ o
{ System
return false;
else
{
CourselArray[size++]=L;

return true;
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private int nomberOfStudents () {
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int number=0;

for (int 1i=0; i<size; 1++)
number=number+ﬂcar5eﬁrray[i].sizet}d

return number;

public volid printNumberOfStudents () {

o e p— L - —L SR _— P — g
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=

onk. i Total number of students in Laboratory C
System.cut.princ (" & b abora

System.cut.println(CourseName + ": " + numberOfStudents()) -

AOMEZ AEAOMENSON " EEAMHNO



TMHMA MHX.TTIAHPOZOPIKHZ & HAEKTPONIKSIN ZYZTHMATON

private int[] succesStatu=s|() {

oAl LA L i L L

— T
A

pin[l]l= new int[Z2¥=zize+l]:

succeeded = 0O;
failed = 0;
{(int i=0; i<size; i++) {
pin[i]=Coursefrravy[i] .succeded () :
succeeded = succeeded + Courselrrav[i] .succeded() :
: FwC 3ize-1l: @OLINIEC TOU
(int i=0; i<s=size; i++) 1
pin[i+size]=Courselbrray[i] .failed ()} :
failed = failed + Courselrray[i].failed():
}
> 2ize Fwg 2%size-1:
pin[Z2¥*=zize]=succeeded;
pin[Z¥=zize+l]=failed:
return pin;
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private int[] =succesStatus () {

Al LR Lo C L L

pin[]= new int[2¥%*size+2]:

succeeded = 0;

failed = 0O;

(int i=0; i<s=size; i++) {

pin[i]l=Cour=selrrav[i] .succeded()

succeeded = succeeded + Courselirrav([i].succeded]|) :

— - — —

Fwg Size-1: QPoOLINTIEC TOU

(int i=0; i<s=size; i++) {
pin[it+=size]=Coursebrray[i] .failed():
failed = failed + Coursefrravy[i] .failed():

pin[Z2*=ize]=succeeded;
pin[2*size+l]=failed:
return pin;
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public void printSuccesStatus(){

o o — —L o Ty —
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int pin[]=succesStatus{():
for (int i=0; i<=size; i++) {
System.cut.print ("In Labk " 4+ Courselrray[i] .getName()+ " ");
System.cut.print (pinfi] + "
System.cut.println({pin[i+size] +"
}
System.ovut.print ("In the course " 4+ CourseName + " ");
System.cut.print (pin[2%*=3ize] + " led
System.cut.println({pin[2®=size+l]
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public void printAverageCourseGrades () {
double total=0.0;
for (int i=0; i<size; i+4)
total=total+Courselrray[i] .averageGrade (),

- . T - o o - N £ atrrnrlarmt o - T =1 I
System.out.print ("Total average grade of students in Laboratory

System,ovt.println(Courselame +": "+total/size);
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public vold printSuccesStatistics(){

e — e e - — — R —
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int pin[]=succesS5tatus():;
for (int i=0; i<size; i++) {
System.ocut.println("In Lab "™ + CourselArrav[i].getNames(})+ " ")
System.ocut.println("” ercentage of students
100#% (float)pin[i]/ (Courselrray[i] .size())):
System.ocut.println (" ercentag 1

- 17 o
L [ R UL § g S50 B

100% (float)pin[i+=ize]/ (Courselbrray([i] .zize())):

}
System.cut.println("In
System.cut.println(" Total pe
100* (float)pin[2*=1 zP]fnumberﬂfStudentsi]]
System. cut.println(" Total F
100*% (float)pin[2¥%=1
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public static vold main(String[] args]
Student 51 = new Student (lellll,
Student 52 = new Student (161112,
Student 53 = new Student (lelll3,
Student 54 = new Student (lellld,"Xaitas
Student 55 = new Student (161115, Nnou= imitr rel, 2, 5):
Student 56 = new Student(lellls, i o= =3 'Er,20,1, E]
Student 57 = new Student (11117,
Student 58 = new Student (161112
Student 359 = new Student (161112
Student 510 = new Student(lﬁlll
Student 3511 = new Student (161112

Lab Tl = new Lab("Dom
Lab T2 new Lab ("Dom
Lab T3 = new Lab ("Dom

Tl.inmsert(51):; Tl.insert(32):; Tl.in=sert(53):; Tl.insert(54):
TZ.insert (55):; T2.insert(56); T2.insert (57):;
T3.insert (58); T3 .insert(539); T3.insert(S10),; T3.insert(511):
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Svestem.out.println(T3.zearch (161120} )
System.out.println(Tl.delete (54) ) ;

T2 .delete(S5&);

Tl.insert (56);

TZ2.in=zert (54);

T3.pre=sentations()

Syvstem.ocut.println (T3.succeded () ) :
Syvestem.out.println(T3.failed () ) :
System.cut.println(T3.averageibrade () )

LaboratoryCourse Co=new LaboratoryCourse ("D

Co.insert (T1);
Co.insert (T2):
Co.in=sert (T3);

Co.printHunberOfStudents () ;
Co.printAverageCourseGrades=s () ;
Co.printSuccesStatu=s();
Co.printSuccesStatistics ()
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